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What you will learn about:
Use the Rectangular Coordinate System

Rectangular Coordinate Grid
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the quadrant in which the point is located:
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Plot each point in the rectangular coordinate system and identify




Name the ordered pair of each point shown in the
rectangular coordinate system.
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Determine which ordered pairs are solutions to the equation
Ax+By=C x-i——‘l}-"—S Ly clcn cz...r'-.ons trne
a) (0,2) b) (2.-4) ¢) (-4.3) 2
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y=mx+b § f"i/{? =9
Mm-Slepe Yes Mo lf‘b
b- y-.'»*""" 'Pt; Complete the table to find three solutions to the equation
y=4x—2
y=4x-2
X 4 (x, y)
[} -2 _(0,-a)
1 —L (-1,-¢)
2 b (2,0
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Complete the table to find three solutions to this equation:

Ix—4y=12.
3x—4y=12
X 4 (x, y) =t
0 -3 (o3 (
L 0 (L‘I'OB- N
-4 --(' g‘;";_t"‘} -_'.)
Y -ee)=1d 3(-4)-Yy=02
Yy=IX -la -y =12
=4 —HV';;
Find three so]uti&ns to this equationy = —3x + 2.
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Find three solutions to this equation 4x + 2y = 8.
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What you will learn about:
Graph Linear Equations in Two Variables

Find three solutions to the equation: 3x +2y =6

(%) (2,0) (4,3

Graph the solutions on a coordinate grid.

Draw a line through the points.

Graph the equation by plotting points:

y=-2x+4 __y_. Z
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Vertical Line

Horizontal Line

Graph the equation by plotting points:

1
y=zx+2
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Graph the equation by plotting points:
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Graph the equation by plotting points:

y=-2
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Graph y = 3x and y = 3 on the same rectangular coordinate

system
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Graph y = 5x and x = 5 on the same rectangular coordinate system
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What you will learn about:
Graph with Intercepts

Intercepts of a graph X—;h‘b‘“ 'F‘l! = Where ti Gr-r L Crosses b St AN (0\) L?)

y-fuicfup{: ? Where EL greph Cresses yoexiy (o,0)

Grth ke cept®
Standard form ¢ W** Finding the x and y intercepts of the graph
Ax+By=C
Find the interceptsof 2x + y = 6
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Finding x-intercept - Aoty = [
Let? =0 and solve for)y’ 2 Y +o “ Y
Y=D A ¢
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Find the intercepts of 3x + 6y = 24
x’-a‘h'bcrupt Y-;'l'ﬁﬂupb"

Finding y-intercept ( ﬁ)p') (D {.1\
J

Let x =0 and solve fory

Find the intercepts of 4x — 3y = 12
¥-intecept Yn 'hn-spt
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Graph using the intercepts
—x+2y=6
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